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Strain ()

x10-12

H1:DCS-CALIB_STRAIN_CLEAN_CO1

Time series downsampled to 2048 Hz
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H1 strain sensitivity, 2019-09-05 20:53:42 UTC (1251752040.0)
Input power 36.6 (W), D [1.4/1.4, 10/10, 30/30 (Mo )] = [108.4, 520, 811.4] (Mpc)
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H1 displacement sensitivity, 2019-09-05 20:53:42 UTC (1251752040.0)
qu% power 36.6 (W), D [1.4/1.4,10/10, 30/30 (M )] = [108.4, 520, 811.4] (Mpc)
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H1 displacement sensitivity, 2019-09-05 20:53:42 UTC (1251752040.0)
10-15 Photon calibraltggp excitation frequengg_goom
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H1 displacement sensitivity, 2019-09-05 20:53:42 UTC (1251752040.0)
Photon calibration excitation frequency zoom

| e h(t)/PCAL | - -
1.04 4 o 1.04 - 1.04 -
. /|l Exc.freq. | | ]
<C
O ] ] ]
a
S 1.02 - 1.02 - . 1.02 -
z ] ] ]
IS
< ] ] ]
2 1.00 - 1.00 - 1.00 -
[
q) -
o ] ]
S 0.98 - 0.98 - 0.98 -
© J J i
rol
@
a ] ] ] .
0.96 - 0.96 - 0.96 -
17 18 410 411 1083 1084

Frequency (Hz) Frequency (Hz) Frequency (Hz)



delta = linfit(@420 [s]) - linfit(@0 [s])

H1 UIM actuation strength change

1.04 - Il Real
] I Magnitude
y ] I Real linear fit delta=0.00299
E ] I Mag linear fit delta=0.002993
= 1.00 1
E ] - —
€ 0.98 - NEE
0.96 -
0 100 200 300 400
0.04 - I Imaginary
] 0 Imag linear fit delta=0.001086
‘:6'\ 0.02 .
£ ] o O
~ 0.00 —_===' —— ——
§ i
£ -0.024
—0.04 -
0 100 200 300 400
4 Il Imaginary
] [ Pha linear fit delta=0.06252
—~ 21
(&) J
@ ]
) .
o O
s i
S ]
R ]
o -2 -
-4 _
0 100 200 300 400

Time [s] since 2019-09-05 20:53:42 UTC (1251752040.0)

H1 PUM actuation strength change
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delta = linfit(@420 [s]) - linfit(@0 [s])

H1 TST actuation strength change
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H1 Optical plant change
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